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2K s8I|=HH
M S ATMAAS (SRHLL/ D - SE)
Chel: SIHEEAY (SH9 H2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
-SHY, sHE L ASMAFBAOIG 2
HG 70,000& x30H *43| 8,400
02 S324| 135,590 85,689 49,901
O3222 ¥ HAl 104,760
= INEPSPIE 7,000,000 x12& 84,000
AN ER23 800,000& 128 9,600
-HAF EAS(TV - QIEHY! - M3}
100,000& *x 128 1,200
-SAKHELR RES 1,800 x2000H 360
-2EZXE BE=2 800,000 » 12CH 9,600
OAIEEH|RXIB] 7,900
-StA LS| 700,000& *x23] 1,400
-HUE) | S22l
3,000,00024 23] 6,000
~RIHI0IE (S201) |XIZ2IHI
500,000 *1CH 500
Oxtesa Bt 22,680
“sQAMYS XXE HYRSY|
1,800 %75 4 x140Hx12& 22,680
(@)i=ds] 250
-GAA Halyy 250,000&*13] 250
202 04| 8,400 6,600 1,800
01 2L Y| 8,400 6,600 1,800
OsEHAIM HqRFA 8,400,000& 8,400
203 YR =&IH| 3,000 1,000 2,000
03 AIZHF=EH 2 =KRIH| 3,000 1,000 2,000
O=s8 A 2K 300,000 * 103 3,000
204 AR LA 7,200 4,800 2,400
03 SEEREHI 7,200 4,800 2,400
OEEAIHEE =AIZSH|
200,000& x3¥ + 12& 7,200
401 A& H|ILE0HY] 113,000 119,000 26,000
01 Al&HI 113,000 119,000 6,000
OsgI|sdy #IINEH 299
2,000,000& 23| 4,000
Osgl|lsdH A =8 29
20,000,000 14! 20,000
OWLe)| M= 100,000 251 *23] 5,000
Osgs2g 82T &%
20,000,000 =24 40,000
OFEAF &IIX &AL AX|
7,000,000 & *2CH 14,000
OFAI 3o & WMl BAH
30,000,000& = 1A 30,000
405 KHAHSFISHI 3,000 3,000 0
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el SIHEZEANY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,768
s 51,072
Ost==sd MEES 60,0003 x3225 19,320
= 3,864
Ea 16,456
FRA=2C 8K 8,600 6,300 2,300
= 8,600
201 Ler=23 | 5,720 3,500 2,220
= 5,720
01 AtR2t2lt] 5,720 3,500 2,220
Od=F=2ac| ddH| 5,720
-SSHIE0= Y 2= A
1,000213,6705 3,670
= 3.670
-BTYIZ0IB S 42 AN
50,0002 *207K 1,000
= 1,000
SHRBOUT PBHD HY UBES)
=3l 150,000 72 1,050
= 1,050
202 04| 2,880 2,800 80
= 2,880
01 2L A b 2,880 2,800 80
Oyl 2 =7
20,0002 x2H*63|* 122 2,880
= 2,880
ODI=SEXMCIEATNEA A 728,667 714,898 13,769
101 212A4H| 2,767 1,734 1,033
04 JIZtN2Z2 XS 2,767 1,734 1,033
OSSHIFD= SAZE WA
163,6713*6 x33] 2,767
201 Ler23 | 10,500 10,000 500
01 At22t2lt] 10,500 10,000 500
ogxz 10,500
-23HI=01= 0He XIAHX Sxt
350, 0002 *30CH 10,500
203 =4l 2,000 1,000 1,000
03 A= PR FZ| 2,000 1,000 1,000
02U REL =7
200,000& %102 2,000
206 M=l 14,900 18,164 N3,264
01 MZH| 14,900 18,164 N3,264
OYRgd= 2aF)) 2545H F
23,6503 +6302H4 14,900




2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el sIHEE A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 480,000 360,000 120,000
14 IIEt2 83 480,000 360,000 120,000
O 4 B AXS2E X2
000& 430,000 430,000
OZ& OIE{Sl THIY EiHiHl X1
4,000 %25,00024 *50% 50,000
307 212+01& 218,500 324,000 105,500
02 LB HANHEE 218,500 324,000 A105,500
OS3HI=01= Y =& A& 78,500
—Z~ 8 I 1 (40kg) 6502 10,000 6,500
-=24(800kg) 9,000 +8,000% 72,000
OLNSE & XYM X2
5002 250, 0000H +80% 100,000
O% Ty =<4l NI
4003 250, 0000H *40% 40,000
sXols2el X 227,156 189,143 38,013
= 159,010
Ea 68,146
101 @1A4H| 181,725 168,143 13,582
= 127,208
s 54,517
04 JIZtN2Z2 XS E 181,725 168, 143 13,582
OsiolE2elXd SR
2,596,070« 1H+5& 144 5H 181,725
= 127,208
= 54,517
201 Ler23| 39,431 15,000 24,431
= 27,602
Ea 11,829
01 A2zt 39,431 15,000 24,431
OsXoIBZNE 2
2,816,500« 14745 39,431
= 27,602
o 11,829
202 04l 6,000 6,000 0
= 4,200
= 1,800
01 =LHA LI 6,000 6,000 0
O=8sil & SA0ISAENZA
100,000 x5 * 122 6,000
= 4,200
o 1,800
SESMAIE 28,000 0 28,000
= 14,000




2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 14,000
307 gl2tol & 28,000 0 28,000
= 14,000
s 14,000
04 QIZHHAMAIH 2 £ 28,000 0 28,000
OsEFN XA
14,000,000 *2JH 2 28,000
= 14,000
s 14,000
s MtSeSSSA XA 31,500 27,000 4,500
= 9,450
Ea 22,080
307 @20l & 31,500 27,000 4,500
=S 9,450
s 22,050
02 QB AANEER 31,500 27,000 4,500
OsHl OI2RE24 X
2,250,000 * 1404 2= 31,500
< 9,450
= 22,050
Hesgol U2 XA 260,000 166,920 93,080
= 97,500
Ea 162,500
307 el2to| & 260,000 166,920 93,080
= 97,500
o 162,500
02 QB HANEEX 260,000 166,920 93,080
Ool&=Llel B2 Xg
130,000 %2, 500 #8(0% 260,000
[ 97,500
Ea 162,500
LESIIKE 5,400 6.400 21,000
201 Ler23| 4,400 4,400 0
01 At2teltl 4,400 4,400 0
Odgt+==t| 2,400
-2ESI| XNA(BLY EALEE IR S)
2,000& +1,200& 2,400
O=gl 2,000
-SELEs| 2,000,000& 2,000
203 HR=H| 1,000 2,000 A1,000
03 A= PR FAI| 1,000 2,000 1,000
ogesdl = 100,000 %102 1,000
QoIS ElXI==0H 45,000 28,000 17,000
== 13,500




2A: sHIIsUE
M S ATMAAS (SRHLL/ D - SE)
Chol: =Dl ALY L)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 31,500
301 EtE NS 45,000 27,000 18,000
=S 13,500
s 31,500
14 0Bt 2as 45,000 27,000 18,000
OSI2H0iZ EIXIS0Hl L X2l
4,00021%11,250kg 45,000
< 13,500
s 31,500
sz FHsEAE 2,700 2,700 0
= 1,563
< 341
= 796
307 elztol & 2,700 2,700 0
= 1,563
== 341
o 7%
02 LB HANHEE 1,700 1,700 0
OsZEMEz20ts A HESEXH
1,700,000 1,700
= 1,063
s 191
e 446
12 QIZHOIR & = H| 1,000 1,000 0
OsZ2E MHIAQHM F AL
1,000,000& 1,000
= 500
S 150
[Ea 350
HEotseld us X 720 720 0
- 450
== 81
[Ea 189
307 212+01& 720 720 0
= 450
=S 81
s 189
02 QB AANEE R 720 720 0
OsEXMEits aggdst N
300,000 34 2*0.8 720
= 450
= 81
o 189
SENESAREHES 41,016 56,881 15,865
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M sgII=4dH
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 1,900
= 570
= 1,330
11 HALAHIXI A2 3,800 8,000 A4,200
ORI 23|
200,000 x 15 %193 3,800
= 1,900
& 570
i 1,330
307 QIZt01A 500,800 429,700 71,100
= 350,560
& 45,072
i 105,168
02 QIZHAAAIHE X 500,800 429,700 71,100
OESIE F=FHT
500,800,000& 500,800
= 350,560
& 45,072
i 105,168
SEME X TAF AR 1,200 1,200 0
& 300
i 900
307 QIZ2t01 A 1,200 1,200 0
= 300
= 900
02 QIRHE&AAIH B X 1,200 1,200 0
OSEHENTAF LAY
1,500,000&*12+0.8 1,200
& 300
i 900
FEHYC! SUHENRAAG 21,600 21,376 224
= 15,120
& 1,944
i 4,536
307 QI2tol 21,600 21,376 224
= 15,120
& 1,944
= 4,536
02 QIZHAAAIEER 21,600 21,376 224
OFEHYC doE= XA
900,000& x2H x 12 21,600
= 15,120
& 1,944
= 4,536
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sgI|=dH
SUAMAASH(SH YL/ Y - SE)
SIHEE AL (SH &)
SA - B SRIBH) - MRAR - BAS A HIDEZ
FHsgol FHsH=A 96,000 96,000 0
= 28,800
= 67,200
307 el2to| & 96,000 96,000 0
= 28,800
o 67,200
02 QI EANEEX 96,000 96,000 0
OFd=l0l s
1,000,000 x8&* 12 96,000
== 28,800
[Ea 67,200
U= 2018 dXDI2 nMXI2 A 34,800 0 34,800
= 10,440
= 24,360
402 QI2F X201 & 34,800 0 34,800
= 10,440
Ea 24,360
02 QI XHZ AL E R (01X THE) 34,800 0 34,800
Ok= od & &M wH
14,500,000 *4CH+0.6 34,800
== 10,440
o 24,360
LAY XSs AIEEHIXE (HEA) 24,000 0 24,000
= 17,700
= 6,300
402 2I”F X201 & 24,000 0 24,000
= 17,700
o 6,300
02 QI X2 AL E R (01X THE) 24,000 0 24,000
OZA0E Atsat AIEdE8 XI&
30,000,000 «1CH*0.8 24,000
== 17,700
o 6,300
LEHAIE XZA 450,000 70,000 380,000
S 90,000
= 360,000
402 QI>F X201 & 450,000 70,000 380,000
= 90,000
o 360,000
02 QI X2 AL E R (0IHTHR) 450,000 70,000 380,000
OLIAIE XA
300,000, 0002 *37H 2 +50% 450,000
s 90,000
s 360,000

—




2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SENSAS XA 120,000 120,000 0
= 40,000
== 18,000
[Ea 62,000

307 212+01& 120,000 120,000 0
= 40,000
=S 18,000
s 62,000

02 QB HANEER 120,000 120,000 0
OsENs=EIE 120,000,000 120,000
= 40,000
= 18,000
[Ea 62,000

2= ZH XA 74,000 90,000 16,000
= 74,000

206 M=l 74,000 90,000 216,000
= 74,000

01 MHZH| 74,000 90,000 A16,000
Od=Faclgd= LN 74,000
-SXIZ(10kg XITH) 5002 %148, 0000HK 74,000
= 74,000

HE0Yel o XA (HEHI) 500 1,200 A700
= 250
== 75
o 175

201 er= 3| 500 1,200 AT700
= 250
= 75
o 175

01 AtR2t2|HI 500 1,200 AT700

OFENYe JOHFEAXZAG (HFHI)

500,000& 500
= 250
= 75
Ea 175

FE=sgel HRLIE 2435t K& 10,000 10,000 0
< 3,000
[Ea 7,000

307 212+01& 10,000 10,000 0
< 3,000
s 7,000

02 2IZHBHAIHE £ 10,000 10,000 0

_11_




2A: sHIIsUE
M S ATMAAS (SRHLL/ D - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFH=Ye HRLIE gdat N&
10,000,000 *10H 2~ 10,000
= 3,000
Ea 7,000
FMET WL R(HEAY) 40,000 20,000 20,000
== 36,000
o 4,000
206 M=l 40,000 20,000 20,000
[ 36,000
T 4,000
01 MHZHI 40,000 20,000 20,000
O==4tEX X012 H|
200&+200,0000t2! 40,000
= 36,000
[Ea 4,000
He =Rl S4H*Y X2 A 36,000 36,000 0
s 13,500
s 22,500
307 212+01& 36,000 36,000 0
[ 13,500
Ea 22,500
02 IHB A HE L 36,000 36,000 0
O d=sel 4t x XA
1,000, 0003 x5 x9= »80% 36,000
= 13,500
o 22,500
Ssgel SHY Bl XA 56,000 56,000 0
=S 16,000
s 40,000
402 2I2F X201 & 56,000 56,000 0
< 16,000
[Ea 40,000
02 QI TH2AILEE (01X THE) 56,000 56,000 0
Osgel s&g #HoldH| X
500, 0002 *160CH*7(f% 56,000
= 16,000
= 40,000
sA?Es 2gXE 268,200 268,200
201 er=23y| 268,200 268,200
01 AtR2t2lHl 268,200 268,200
Oget+=EHI 33,000
== FEEOHIES
1,000,000 524 5,000

_12_




2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el SIHEZEANY (St &)
SA - B BRA(SH) - HRA - of v e HIDE2
S EEEEE
2,000,000 1401 EH 28,000
o2gay 235,200
=XIPIRE BA Y
70,0003 x10E 22/« 12@ 14 EH 235,200
=22 22E Q! X&MLY 237,231 0 237,231
= 27,000
= 210,231
101 @124H| 30,636 0 30,636
M IIRIMZZENSES 30,636 0 30,636
OsZy 2ULIHEH 2
30,636,000 x1H 30,636
201 fer= 3| 104,700 0 104,700
== 1,172
o 93,528
01 AtR2telbl 84,700 0 84,700
O=¢el HEZ2A =U=d
84,700,000 84,700
= 1,172
= 73,528
03 A= SHI 20,000 0 20,000
O2=Q HEZZ2X TUHAKA
20,000,000 20,000
301 EtE NS 101,895 0 101,895
[ 15,828
Ea 86,067
11 AALEEIXIRE S 12,000 0 12,000
OI=0l HE22L dE= =
40,000 *300H 12,000
14 DBt 2 a3 89,895 0 89,895
Q=0 HE2Z2X 20 XIE A
89,895,000 89,8%
=S 15,828
s 74,067
s5Y FHEH ZdME 100,000 0 100,000
< 30,000
s 70,000
402 QI+ X201 & 100,000 0 100,000
= 30,000
= 70,000
02 QI A2 AL E (01X THE) 100,000 0 100,000
O=s&g |Aay =4
100,000,000 *19H 2 100,000
= 30,000
o 70,000
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2A: sHIIsUE
B SOIAMYS (SR YSM/ 5L - SE)
Sl DSEH M 2 IS MAKR (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,040
s 76,160
ODBIA MUST X4(2182)
30,000,000 *1IH 2=%70f% 21,000
= 4,200
o 16,800
O MakAH] CHst & &4
800,000& *50nax7 (% 28,000
< 5,600
s 22,400
Osxg 23FHI(EH=) X2
50,0002 *370H 18,500
= 3,700
o 14,800
OsAM &2I] X2
20,000,000 =5CH*50% 50,000
< 10,000
s 40,000
H S2HI2 K& 1,721,900 1,671,118 50,782
206 M=l 1,721,900 1,671,118 50,782
01 MZH| 1,721,900 1,671,118 50,782
Ol JIH0IY 4EME K&
170,000 %5,200ha 884,000
OH SR2&At XMeldl X
147,000& %5, 700ha 837,900
DSE BMATH X2 AHY 6,700 6,700
201 er23 | 1,900 1,900
01 At2teltl 1,900 1,900
Odgr=gl 1,500
-ISEAYUMU S22 A
50,0002 x35* 100 £ 1,500
ogxz 400
-S2Y gxs 400,000 %12 400
202 04l 4,800 4,800
01 =LHAHI 4,800 4,800
OLSTY YA =X
400,0002 * 12& 4,800
AYA A Al 3,600 3,600 0
303 Zal= 3,600 3,600
01 2= 3,600 3,600
O=220F @Ot & SEAIY 3,600
x| 1,000,000 17K 2 1,000
-2 700,000 #2042 1,400
-&d 400,000 *39H 2= 1,200

_15_




2A: sHIIsUE
B SOIAMYS (SR YSM/ 5L - SE)
el DS i 2 ERE HAXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
adgds sdA2 15,100 13,700 1,400
201 er23 | 3,000 1,600 1,400
01 At2teltl 2,000 1,600 400
ogxz 2,000
-MNAS S| HAF HA LR
1,000,000 *2CH 2,000
03 A2 I 1,000 0 1,000
OZXJITHEH A 29 500,000 <22 1,000
301 EtE NS 9,100 9,100
11 dAMEEIXIE S 9,100 9,100
OXdgs =33l 2
20,0003 %140 2,800
Oudgs = 23Uzl BIHEY
20,0002 +140H 2,800
OXNMAs o0t IHEUHE HALE A
14,0002 «250& 3,500
307 lztol & 3,000 3,000
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= 500
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o 2,747
11 #AIAHIXIE S 1,500 0 1,500
OgslIzllens FAA 24
15,0002 *25& *43] 1,500
= 750
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= 22,500
s 22,500
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OsE2= & HA 3,330
-aoteEes(lsds24a)
1,850 »200m 9= 3,330
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“Betsea LR SHSA
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SIAREF SERXIH|
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o 8,850
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Hel: SEMES 25t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 32,500
s 17,500
S Moo otd8)|s s=HHe 5,000 25,000 /20,000
= 1,500
Ea 3,500
206 MH=H| 5,000 0 5,000
=S 1,500
s 3,500
01 M=8l 5,000 0 5,000
O Mool M)l Sl
5,000,000 5,000
< 1,500
= 3,500
HEHEXE 30,000 39,000 29,000
= 6,000
Ea 24,000
201 eer23y| 30,000 30,000 0
= 6,000
o 24,000
01 At 2|l 30,000 30,000 0
Oget=EH| 30,000
-~HEHHS 32X AR
60,0002 *5005 30,000
= 6,000
= 24,000
A=sg |4 JleXE Alg 80,000 0 80,000
= 30,000
o 50,000
402 2I2F X201 & 80,000 0 80,000
== 30,000
o 50,000
02 BIINEASEX(0IETHR) 80,000 0 80,000
Oxzsg |4 JleXd MY
50,000,000 *2IH 2= +80% 80,000
S 30,000
= 50,000
Assy = T2 )H 2= AlY 16,000 0 16,000
= 6,000
o 10,000
402 2I2FX=01 & 16,000 0 16,000
s 6,000
s 10,000
02 I EASEZ(0IETHR) 16,000 0 16,000
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OXl=Y Sa Tz 22 A
20,000,000& 174 2=+0.8 16,000
= 6,000
Ea 10,000
Arsgy 8dd 24N 240,000 0 240,000
== 90,000
o 150,000
402 2I2E X201 & 240,000 0 240,000
[ 90,000
T 150,000
02 QI X2 AL EE(OIHTHE) 240,000 0 240,000
OXRsY BN T
300,000,000& 174 2:+0.8 240,000
= 90,000
[Ea 150,000
SENE 558 d2sE e 4,000 0 4,000
s 1,200
s 2,800
307 212+01& 4,000 0 4,000
[ 1,200
Ea 2,800
02 IHB A HE L 4,000 0 4,000
SENY B28 MRS N
4,000,000 * 100 2~ 4,000
= 1,200
o 2,800
sEUSsY 54 A 32,000 0 32,000
=S 12,000
s 20,000
402 2I2F X201 & 32,000 0 32,000
< 12,000
[Ea 20,000
02 QI TH2AILEE (01X THE) 32,000 0 32,000
OsZEuUsSsd 54 AE
20,000,000& +2JH 2=+0.8 32,000
= 12,000
= 20,000
SENE S 2B Alg 24,000 0 24,000
=S 9,000
s 15,000
402 2I2F X201 & 24,000 0 24,000
== 9,000
[Ea 15,000
02 QI TH2AILEE (01X THE) 24,000 0 24,000
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30,000,000& 174 2=+0.8 24,000
= 9,000
Ea 15,000
AZHE T2 2 X2 60,000 0 60,000
= 30,000
o 30,000
402 2I2E X201 & 60,000 0 60,000
= 30,000
T 30,000
02 QIZEXHZ2 AL E X (01X THE) 60,000 0 60,000
OnNZHE Tz 2% X8
30,000,000 #20H 2 60,000
= 30,000
[Ea 30,000
H50l 9 42%8 Jl=s MY 120,000 0 120,000
= 60,000
s 60,000
402 2I2F X201 & 120,000 0 120,000
= 60,000
Ea 60,000
02 QI X2 AL EE (01X THE) 120,000 0 120,000
OER0l & 427 Jls A8
120,000,000 * 100 £ 120,000
= 60,000
o 60,000
2 - S5 OFE At 9,750,936 7,799,651 1,951,285
= 420,500
Jl 95,209
== 2,709,155
[Ea 6,526,072
oS NSE HDI=s E5 20,100 21,160 21,060
201 =3 5,800 7,560 A1,760
01 At2t2lt] 5,800 7,560 1,760
Oggt=3ZH| 5,000
-HoEE 222 MA
250,0002 %105 2,500
-0&=2 WSUM ME
25,000 »1002 2,500
ogxz 800
-20&E EolRd X Xt
800,000& 12 800
202 04dl 3,300 3,800 A500
01 2L AL 3,300 3,800 A500
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OUHSIZEYI|I=s2S
3,300,000& 3,300
203 =] 1,000 1,000
03 A=A PR FA| 1,000 1,000
OAIETHA MDD |=sEg dRFA
100,000& * 102 1,000
206 M=H| 2,000 2,000
01 MHZH| 2,000 2,000
OXNESeHE g2Ms
20,0002 = 100K 2,000
301 EtE N = 6,000 4,800 1,200
11 #AIMHIXIZE = 6,000 4,800 1,200
O0t=g73 Ws F4 24
8,000 75 *23] 1,200
Oognazs s 4 24
8,000 75 *23] 1,200
O =t JNKX| A5
1,200,000 374 2 3,600
308 AXIMSOIA 2,000 2,000
07 HXHH2LREES 2,000 2,000
OFZ0ISFLCT BHEol3 223
,000,000& *13] 2,000
SE20F HUXIZZAILXZ 89,100 333,075 A243,975
= 40,500
= 14,600
o 34,000
402 2I2F X201 & 89,100 333,075 N243,975
= 40,500
= 14,600
[Ea 34,000
02 QI X2 AL E R (01X THE) 89,100 333,075 A243,975
(OLUIE PP 178,200, 0002 *50% 89,100
= 40,500
= 14,600
= 34,000
ANE SIS SR (R0E2) 87,500 75,000 12,500
Jl 35,000
= 15,750
= 36,750
402 QI>F X201 & 87,500 75,000 12,500
Jl 35,000
& 16,750
Ea 36,750
02 QI TH2AILEE (01X THE) 87,500 75,000 12,500
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SRl A0 - S5 DSE M (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OJUAIA 175,000,000 *50% 87,500
| 35,000
= 15,750
= 36,750
ANERAW JI=sE3 711,800 813,600 101,800
402 QI2ERH=0I1 N 711,800 813,600 101,800
01 QIZEXHE2AIS 2 (KHRITH ) 711,800 813,600 A101,800
OAEMA D2)| 2&6t XJA
20,000,000 *5IH 2 +50% 50,000
OAldoteA SZE X2
20,000,000 * 1201 2 %50% 120,000
OAIZ 20 MASHX E2HS XIRAALS
1,830, 0002 *170ha*50% 159,800
OAEMA =3 XA
90,000 * 107 *507H 2 x50% 22,500
OAlEstRA 2IIE 2280 XJAS
11,000,000 *300H 2 *50% 165,000
OAIEGIRA EI14 HIY X3AY
2,600 *80,000m" x50% 104,000
OAIZGtA THEHRI Kot E=&X| XI&
20,000,000 *5IH 2 +50% 50,000
OUIEEZA HHXIEE E2HE AIHAIS
27,000, 000 *3ha*50% 40,500
SXHA =22 1,873,450 1,572,010 301,440
207 ARIHLH| 50,000 0 50,000
01 HEGH| 50,000 0 50,000
OFY Ot=, I &MHSEF XE Y 29
50,000,000& 50,000
402 SIZERH=0IH 1,823,450 1,572,010 251,440
01 QIZEXH2 A 22 (RERITH &) 1,823,450 1,572,010 251,440
O IF AZX AFE A K2 A
900, 0002 *78ha*50% 35,100
O MWAIBIXT =8 EF=H SIS =4
A 15,000, 000 *4ha*70% 42,000
Ot FAUsHE MET B= NJAZ
1,800,000 *83nax50% 74,700
O Mel&o 2 l XI&ALS
45,000 *20IH *70ha*50% 31,500
Ot dollE 22U NJAS
210,000& *30ha*50% 3,150
Olts, 20 =9 XJAA
30,0002 * 1500 x68 9 2~ *50% 153,000
OLIIIIHEA EdIOl S24 XIJAS
3, 1002 *12,000&H *50% 18,600
OOtsAHZAIE EXI X2 AS
4,000,000 * 1094 2 %50% 20,000
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&2 2ol - S& DSE Mut (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
SEEIEEITEENE
150,000 *10,0000H *50% 750,000
Oks a3 20 UM
30, 0002 *10JH *89%na*50% 13,350
OEgA! Ol HZEX XJAE
44 ,800,000& 44,800
OO0 A8 sI 4 KA
2,000, 000& #1000 2 *75% 150,000
Olls, 2 AT NAI
50, 0002 *60JH * 150ha*50% 225,000
OO0t HAZEG AFEEH KIRAFS
45,0002 2020 *105ha*50% 47,250
Olts E2 B UH %M KA
30,0002 *300ha* 10 *50% 45,000
OJ0&Z2 AP KIR AN
3,000,000 *100ha*50% 150,000
OXHESEEX ZETH KISAIS
5,000, 000! x8na*50% 20,000
DM JHEBHAI A X & 133,837 51,000 82,837
J| 53,534
= 24,090
= 56,213
402 QIR0 133,837 51,000 82,837
J| 53,534
= 24,090
= 56,213
02 CIZIXIE A E X (01 THS) 133,837 51,000 82,837
ODF=HIDI THEHAIE
22,000& %12, 167 m* *50% 133,837
J| 53,534
= 24,090
= 56,213
2U=0t ICTe=EAJA 13,351 0 13,351
J| 6,675
& 2,003
o 4,673
402 SIZEXHE01 & 13,351 0 13,351
J| 6,675
& 2,003
= 4,673
02 QIZHKIEAIE E X (0IETHH) 13,351 0 13,351
OADIET |CTSSSSAAIE (ADIER AIE
23) 22,251,000 *60% 13,351
J| 6,675
& 2,003
= 4,673
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e Jo - S5 DFE it (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NA&AS ARSI AL (MEAY) 800,000 300,000 500,000

= 520,000
= 280,000
402 212+ X+=01 & 800,000 300,000 500,000
= 520,000
[Ea 280,000
02 QI XHE AL E R (01X THE) 800,000 300,000 500,000
Ot JIAISE JIgAIE E5AIE
60,000,000 *5I 2 300,000
== 195,000
[Ea 105,000
Olts =015+ datsIt Jlgtxy
6,000, 0002 *500H 2 300,000
= 195,000
[Ea 105,000
OXlmsgd & & 2+-3EMY ALslist
200,000,000 *1IH 2 200,000
== 130,000
[Ea 70,000
Ots, 2F0F XI2IEEALM 64,000 64,000 0
201 er23 | 2,000 2,000
01 At2teltl 2,000 2,000
O MAHEAN 222 M=
100,000 %102 1,000
OCtsXIelHEAIM &22 M
100,000& * 102 1,000
301 22N = 2,000 2,000
11 dALEEIXIE S 2,000 2,000
OLIIZIHEAM ws & 823
500,000& 22 1,000
OOt HEAIM ds & 823
500,000 22 1,000
402 2I2F X201 & 60,000 60,000
01 BRI S A S E X (XM THR) 60,000 60,000
OO0t= XeIHEAIM 28 238 X2
160@ %375, 0000 *50% 30,000
oLt XNHHEAM 822 Z3M XA
150& 400, 0000 *50% 30,000
S I=AIE(R0ES) 112,000 270,000 /158,000
S 32,000
o 80,000
402 2I2F X201 & 112,000 270,000 158,000
== 32,000
o 80,000
02 I ESASEZ(0IETHR) 112,000 270,000 A158,000




od
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

1,309,486

1,309,486

1,309,486

10,000

1,600

1,600

8,400

Ofl &F2H

80,000
20,000
16,000

6,000
10,000

60,000

iy

H

16,000
6,000
10,000

1,309,486

H

Mt

Iy

392,845
916,641

1,309,486

]

iy

392,845
916,641

1,309,486

H

1,244,789

H

373,436
871,353

Mt

64,697

Iy

19,409
45,288
10,000
5,000
5,000

i

H

1,600

800
800
1,600
1,600

i

800
800
8,400
4,200
4,200
8,400

1,600

i

rH

- SRA(E) - HIRAY

- Fa

- HyS

24

=22

100,000, 0002 *80%
20,000,000 »80%

PHE XIS SEEE Jls

20,000, 0002 *80%

307 212t01&

4,41331+6,268, 200kg * 15%+30%

[=]
[l

2|

j} 4O} ‘II|-,-

—
=

O0t

6373 2,257 ,000kg*15%*30%

2|

=

b OFERHE X2

3

1,600,000

01 At22t2ltl

307 212t01™

8,400
2,400

3

400,000 x2E+3

2|

usl

o

OMEHAIE H20t SEALE X




2AN: =gl|=HdH
HH: SZEXNTCAY (SHHLLA =Y - 55)
&2 2ol - S& DSE Mut (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
2 1,200
2 1,200
OL2 ICT17] BHDA X2
3,000,000& x2H 6,000
= 3,000
- 3,000
AMETHA DSE MAH 458,279 227,500 230,779
= 92,237
= 366,042
402 SI2tXHE0| & 458,279 227,500 230,779
= 92,237
= 366,042
02 QIZHHEAIS E X (0| THH) 458,279 227,500 230,779
OJWEZ2oIRA MAAIA UK
460,000, 000& *50% 230,000
& 46,000
= 184,000
0L 28 2D (2Q) XAAY
B840 %6, 3763=*50% 2,041
= 989
= 1,052
OAIETNA (=8 2=dY &
50, 000& #3128+ A x50% 7,800
& 1,560
= 6,240
OQ&ED|LED| A X
428,236,000 *50% 214,118
= 42,824
= 171,294
OAE 20 AXEHEZH KA
4,000,000 2. 16ha*50% 4,320
& 864
= 3,456
2= Holls olE L A AlY 15,000 15,000 0
= 4,500
= 10,500
202 04| 11,000 11,000 0
= 3,300
= 7,700
01 2L Y| 3,000 3,000 0
OdN &2 Ygalls olE & 2H XA
3,000,000& 3,000
& 900
= 2,100
04 =HISt b 8,000 8,000 0
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&2 2ol - S& DSE Mut (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORNTE ZoiE 22 Hesa A22s
4,000,000& »2H 8,000
= 2,400
Ea 5,600
206 M=l 4,000 0 4,000
== 1,200
o 2,800
01 MHZHI 4,000 0 4,000
ORUHE HalZ 02 22
4,000,000 4,000
S 1,200
= 2,800
st =22y XA 128,940 113,820 15,120
= 33,130
o 95,810
307 @120l & 70,000 70,000 0
s 21,000
s 49,000
02 LB AANHEE 70,000 70,000 0
Ot 220H XI2 ALY (4,375, 00021526, Bhax
0.6) 70,000,000 70,000
& 21,000
= 49,000
402 212t X+=01 & 58,940 43,820 15,120
= 12,130
[Ea 46,810
02 QI XHE AL E R (01X THE) 58,940 43,820 15,120
O} - Ot MEoHE sXHM X2 (1908+329,4
37m+0.7) 1,900,000& *18hax7(% 23,940
== 5,130
[Ea 18,810
Olts SgAE AR XA
700,000 *100ha*50% 35,000
= 7,000
[Ea 28,000
gi= SSdSH SEAMY 135,000 765,000 630,000
= 75,000
= 18,000
o 42,000
402 2IZtA=01d 135,000 765,000 630,000
= 75,000
& 18,000
= 42,000
02 QI X2 AL EE(0IHTHE) 135,000 765,000 A\630,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2xE B=2SH SEAL(1EX)
150,000, 0002 *17H 2 %90% 135,000
= 75,000
[ 18,000
T 42,000
Fd0ts RFEST SAESME 89,093 15,000 74,093
101 @124H| 57,917 0 57,917
MU IIRIMZZENSES 57,917 0 57,917
O¥gll=s RES5+ SANESANE 29 57,917
-Jl=s 76,9603 x2H 245 37,711
-RERd 22+E
76,9603 x2& »67 L 10,313
A28z 48,023,040 x2&*10. 3% 9,893
201 er23 | 1,176 9,600 1,576
01 AtR22te|Hl 6,600 6,600 0
OBElls PYET SABS I4 A4
A Sxt= 660,000 « 10 6,600
02 s3=gHl 4,576 3,000 1,576
OBUNs PHET ZAB3 AlLEH £
SRXH| 1,000,000 *34] 3,000
O=32=  HAl 1,576
-RYEER SAEZG HdH HIIesS
250,000 x4 1,000
-&ol=ERs 1,800 80 M *4E 576
206 M=l 20,000 5,400 14,600
01 MHZH| 20,000 5,400 14,600
OBYlls PYZT ZALINL 29 =
N 1,000,000 *204! 20,000
A0IE g XEMA 2= 200,000 0 200,000
= 100,000
[Ea 100,000
402 2IZtA=01d 200,000 0 200,000
= 100,000
s 100,000
02 RIENEASEZ(0IETHR) 200,000 0 200,000
OCIOIE JIgt dAZE 25
200,000,000 200,000
= 100,000
s 100,000
SAHAI|BRA=ALS 500,000 0 500,000
= 200,000
< 60,000
= 240,000
405 AHAHE S 500,000 0 500,000
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SN SYIISHE
HH: SZEXNTCAY (SHHLLA =Y - 55)
R dbeihy BAE S (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
01 CIZHEAIS SR (KHMITHS) 544,000 439,000 105,000
OX - SME 22 2UHSHEES E2AE
30,000, 000& *50% 15,000
RArEE=E B 50,000, 000& *50% 25,000
Otz EESHA - T SHMUAH| K&
64,000,000& *50% 32,000
Oztg el HE3AIY
230,000,000 *50% 115,000
OFEH2LARG =4 K&
200,000, 000& *50% 100,000
Ot =&=3 4 X
80,000, 000& *50% 40,000
ONAAILESS 24 X3
24,000, 000 & *50% 12,000
O SollZ==4= - MHoHHIEt XIRAFSA
160,000, 0002 *50% 80,000
OHEHEZADS 4 XS
60,000, 000& *50% 30,000
OHAsIH 3™ DA
100,000, 0002 *50% 50,000
O3 sHYZ KA
70,000,000 *50% 35,000
OHE HEC2 £28 TIUA X
20,000, 000& *50% 10,000
S EEEPE 4,500,000 4,500,000 0
& 1,125,000
= 3,375,000
307 21Z2H0| & 4,500,000 4,500,000 0
& 1,125,000
= 3,375,000
6 282 4,500,000 4,500,000 0
Os=s&2 Mol2EgE XA
4,500,000,000& 4,500,000
< 1,125,000
= 3,375,000
U= DNEEAILSSUSAE 67,500 75,000 A7,500
J| 27,000
< 12,150
= 28,350
402 SIZHXHE01 M 67,500 75,000 7,500
J| 27,000
& 12,150
o 28,350
02 QIZIXIE A E X (01 ETHSH) 67,500 75,000 A7,500
Ot DSEAE Sz
135,000, 000& *50% 67,500
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M sENZAG(sEiEsd/5 - 5&)
el ity ZEE gy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 27,000
=S 12,180
s 28,350
stE3E1g53st 104,59 124,150 19,555
< 20,919
= 83,676
307 lztol & 3,095 6,650 A3,555
= 619
= 2,476
02 2B YA E X 3,005 6,650 A3,555
Ot ZIIMEM K&
5,500, 0002 *50% 2,750
= 550
o 2,200
OXt== X Tl 2R
690,000 *50% 345
S 69
= 276
402 2I2F X201 & 101,500 117,500 216,000
= 20,300
[Ea 81,200
02 QI XHE AL E R (01X THE) 101,500 117,500 216,000
OdlaS mraldaAlE St
168,000,000 #50% 84,000
== 16,800
[Ea 67,200
OgsasE gda X3
35,000, 000& *50% 17,500
= 3,500
[Ea 14,000
sH=E golis 2H A 57,600 67,100 9,500
= 28,800
s 28,800
206 M=l 57,600 67,100 29,500
= 28,800
Ea 28,800
01 MHZH| 57,600 67,100 29,500
O=2alE &Hl 50,000,000 50,000
= 25,000
= 25,000
Olt=3tad SH 7,600,000& 7,600
= 3,800
o 3,800
SSHNSAIEEUAY 25,000 5,000 20,000
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el ity ZEE gy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 10,000
=S 4,500
s 10,500
402 2I2FXH=201& 25,000 5,000 20,000
Jl 10,000
= 4,500
Ea 10,500
02 QI XHZ AL E R (01X THE) 25,000 5,000 20,000
OS8x2 AEENE A
50,000, 000& #50% 25,000
Il 10,000
= 4,500
Ea 10,500
=S SSWA H2HA XA 27,220 27,220 0
= 13,610
= 4,083
[Ea 9,527
307 el2to| & 27,220 27,220 0
= 13,610
== 4,083
= 9,527
02 2B YA E X 27,220 27,220 0
OZS S=2D4 BLAAX
27,220,000& 27,220
= 13,610
< 4,083
s 9,527
e saE Meb|sEs 104,000 144,000 240,000
= 39,000
Ea 65,000
402 2IZtA=01d 104,000 144,000 40,000
=S 39,000
s 65,000
02 RIENEASEZ(0IETHR) 104,000 144,000 240,000
O014J14 (S nH3 ToHuY Jls=tat &
Bl Al 50,000,000 »80% 40,000
< 15,000
= 25,000
OALIER Jles 238t VIsd SE8a=
ek Al 80,000, 000& *80% 64,000
= 24,000
o 40,000
Oelold mr2tal XA 42,570 0 42,570
& 12,771
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 29,799
307 gl2tol & 42,570 0 42,570
=S 12,771
s 29,79
02 QB AANSEER 42,570 0 42,570
O0g0ld WL2HAX& 42,570,000 42,570
& 12,771
Ea 29,79
DIz 22 At (k=) 200,000 0 200,000
= 100,000
o 100,000
402 212t X201 & 200,000 0 200,000
= 100,000
o 100,000
02 QI XHE AL E R (01X THEH) 200,000 0 200,000
O2t==Ald 28 == Sl DIz 25
A 100,000,000 100,000
= 50,000
[Ea 50,000
OJl= dat dHH HSs fet otZl o=
T AlY 100,000,000 100,000
= 50,000
Ea 50,000
s8I H = A 5,064,939 5,908,048 A843,109
= 1,014,960
= 626,525
[Ea 3,423,454
S HS AL 727,530 735,130 7,600
201 eer23y| 281,530 289,130 7,600
01 AtR2t2|HI 131,660 131,660 0
ER=last=all 30,400
-SJH 2UAlY S22 ME
10,000 «2000H 2,000
-SIIH SUAIE F 2orE9Y
250,000& «7=* 128 21,000
—SJIH SUAE & ST NRAAYE da
T2 RAES 3,000,000 3,000
-SIH 2UAIEEE AIREE P
2,000,000 2,000
—SIIH SUAIE AR FH4 2 2AES
¢ 150,000& ~ 12& 1,800
“SIASUAE E=)| 8l
50,0003 122 *1CH 600
O= gl 1,260
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Hu: SEXCAY(SYHYLA/S5Y - 5
H
=

U

o =IIHS A (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
=01 YA Y RYI2X S20HAY|
7,000 *3Y*60! 1,260
OYx= 100,000
-S| H LAY SUEXF LRt
100,000& *1,000&! 100,000
02 B22ZH| 149,870 157,470 A7,600
O3222 % MA 82,870
-HI|Ie=2 13,270
SIHLUAIE A 2D J|IE=
6, 166 *40kw*2JH A~ * 12& 5,920
SIHLUAIE A &) AISS
87 .5&*1,000kwx/S* 128 7,350
-AUHAIY XIHX BEZ
1,800,000& »4CH =1 7,200
-2AUAIY &EHl B8 &
1,000CH*60,000& 60,000
-ABHEE R 200,000& 128 2,400
OdZH| 7,000
-sJ|H ddla GRS
2,000,000 & *2I0 2~ 4,000
AU=sIIH & XNAHX 29 SFUH
1,500,000 *2CH 3,000
ON&ZHIR X 60,000
~ITHSI, YTARRE SXI 22l
60,000,000& 60,000
206 M=H| 6,000 6,000
01 THZHI 6,000 6,000
OSIIHLUAIE =7 £ M&
15,000& %4005 6,000
401 A& H|I L E0HY] 40,000 40,000
01 Al&HI 40,000 40,000
SIHLUAIE A &1 =& L o84
40,000,000& 40,000
405 XHaHSE S| 400,000 400,000
01 AL Z2EFSH| 400,000 400,000
ORDIE dUsIAH LA
10,000,000 *40CH 400,000
SHEHSI|H AL 193,530 193,530 0
201 LEt2AH| 187,530 187,530
01 AFR2telH| 118,500 118,500
Ogbt4=-2Y| 18,500
-S| LUAIY 22 HIE
10, 000& *2000H 2,000
-SJ|H LAY &0 SBet=E9Y|
166,660& 6= * 128 12,000
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s8JI=4H

SENCAY (sEHL/ =Y -
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=

SEIIHSE A
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S SUAEE2E AIRES 28
1,500,000 1,500
“SIA SUAE AR Fa 2 2ACIES
2l 200, 000211224 2,400
P ENER-ES TR
50,000 *1CH* 122 600
Oogxt= 100,000
-SJIAH SUAE 2R ARt
100,0002*1,0002] 100,000
02 S3=gHl 69,030 69,030 0
OsE2= & HA 12,030
-HJIes3 9,630
HEREASIIHSUHAIE A &1 JIEs8
6, 1663 x45kw+ 104 A x 122 3,330
ERASIIAHLUAIL A 2D AR
87.5%*1,000kw6S* 122 6,300
Aot R= 200,000 * 122 2,400
OgZH| 7,000
-SIIH EHld HEKREH
2,000,000 *27H 2= 4,000
-AUsIIAH € XX 297U
1,500,000 2CH 3,000
OAlZ &I Xl 50,000
-AUsIIH Y AUAISE FXI2tel
50,000,000& 50,000
206 24| 6,000 6,000
01 2 6,000 6,000
OY 2SI H LAY
15,0003 4005 6,000
sSIA =3 W= 147,384 202,208 ABA,824
101 @124H| 71,854 59,878 11,976
M OIRIAI2RIS 2+ 71,85 59,878 11,976
S 23D = 71,85
=g 90, 0002 +2% x222! 12 47,520
-235Y 294¢
90,0003 x2S +67 12,060
- 28x 59,580,000 x2&x10. 3% 12,274
201 er2 3| 4,130 4,130
01 At2tltl 4,130 4,130
OInl=H| 2,750
-SIAH =3 s 100,000 5 & *43] 2,000
-otNgt, QMR S P2
150,000& 5 *13] 750
Oget=ZH| 1,380
-REQS(LUE, E2ZAH
360&*3,0005 1,080
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el SIIAHSH At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“SIANE 28 =9 NE
50,0002 60 300
202 04dl 3,300 3,100 200
01 2L AL 3,300 3,100 200
OsJAH A& g% =8 3,300,000& 3,300
203 =4l 500 500
03 A=A 2= 500 500
OsJ)A=gns g2 &
50,000& *102] 500
206 M=l 64,000 64,000
01 MZH| 64,000 64,000
s =3lus 2357Y
10,0002 *6,0007H 60,000
O =2lus HE2Y
20,0003 %2005 4,000
301 2P EN= 3,600 3,600
11 dALEEIXIE S 3,600 3,600
OsJIHNE B4 24 6,000& «600& 3,600
sSIHANFS=HAS 29,500 29,500 0
201 er2&| 7,500 7,500
2 s5=34l 7,500 7,500
OdzH| 1,500
—SIAuNE 283 RFU
1,500 *500H »20 1,500
OAlZ &I Xl 6.000
“IESUEH SX2
120,000 *50CH 6,000
207 ARl 2,000 2,000
03 Al 2HI 2,000 2,000
OXNSHAEESIIAH W
2,000,000 *14] 2,000
307 212+01& 20,000 20,000
12 QIZHQIRE = H| 20,000 20,000
OAad STH As5U=
200,000& %100 20,000
SYIIHHE WF A 64,000 24,000 40,000
= 32,000
Ea 32,000
206 MH=H| 18,000 15,000 3,000
= 9,000
s 9,000
01 M=8l 18,000 15,000 3,000
OsgIALE M+ 18,000,000& 18,000
= 9,000




2A: sHIIsUE
M sENZAG(sEiEsd/5 - 5&)
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 9,000
405 AtatE = 46,000 9,000 37,000
= 23,000
[Ea 23,000
01 TR ESFH SHI 46,000 9,000 37,000
OusssIIAH 2 46,000,000 46,000
= 23,000
= 23,000
sIH SsHEX S 9,400 16,700 A7,300
= 3,760
< 1,128
s 4,512
206 M=l 9,400 16,700 A7,300
= 3,760
== 1,128
[Ea 4,512
01 M= H| 9,400 16,700 A7,300
s8I SHEX 100,000 +94CH 9,400
= 3,760
=S 1,128
s 4,512
EHE TS SO KEA 30,000 25,000 5,000
= 7,500
s 22,500
405 AHaHE = 30,000 25,000 5,000
= 7,500
= 22,500
01 ML ESFSHI 30,000 25,000 5,000
OJIH e s8olsd WsEd s2IIH +
= 10,000, 0002 *3CH 30,000
=S 7,500
s 22,500
=214 A 200,000 200,000 0
= 100,000
= 50,000
o 50,000
405 AtatE=H 200,000 200,000 0
= 100,000
= 50,000
Ea 50,000
01 ML ESFSHI 200,000 200,000 0
OLF JUIIH mHA
10,000,000 +20CH 200,000
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B SEXCAY (SRS D - SE)
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 100,000
=S 50,000
s 50,000
Ots IS JIAIS X2 A 200,000 200,000 0
405 KHakE SH 200,000 200,000
01 TR ESF SHI 200,000 200,000
Obtsusd| 2 10,000,000 +20CH 200,000
XL 2D A SIAKX A 1,500,000 2,200,000 A700,000
= 750,000
[ 375,000
Ea 375,000
201 el 31,000 0 31,000
= 15,500
s 7,750
s 7,750
01 Al 22| 2,000 0 2,000
OOKEDIHs BRME 72
1,000,000 22 2,000
= 1,000
=S 500
e 500
2 S52g4l 21,000 0 21,000
oY= 28= 300, 000& »70CH 21,000
= 10,500
=S 5,250
s 5,250
03 A2 I 8,000 0 8,000
ODFS b 4243, R 2IAI3
4,000,000 2] 8,000
= 4,000
== 2,000
o 2,000
405 AHaHE S 1,469,000 2,200,000 A731,000
= 734,500
== 367,250
o 367,250
01 Tt ESF=HI 1,469,000 2,200,000 A731,000
OFaNL2AUSIIAH 7L
1,469,000,000& 1,469,000
= 734,500
s 367,250
s 367,250
XEE sIIA KNE A 372,000 372,000 0
S 74,400
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B SEXCAY (SRS D - SE)
el =S A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 297,600
402 2IZtA=01d 372,000 372,000 0
=S 74,400
s 297,600
02 QIR AL E X (01 &THE) 372,000 372,000 0
OREH =) MBI
372,000,000 372,000
< 74,400
s 297,600
USE U ek JIAIE K2 A 48,650 48,650 0
= 9,730
Ea 38,920
402 212+ X+=01H 48,650 48,650 0
=S 9,730
s 38,920
02 BIENZASEZ(0IETHR) 48,650 48,650 0
OLNSE 20t dak sI1H K&
97,300,000&+0.5 48,650
< 9,730
= 38,920
SIIAHXIZAMS 1,100,000 1,100,000 0
402 QIF X201 & 1,100,000 1,100,000
01 QIZEXHE AL 2 (KM ) 1,100,000 1,100,000
Ooggt sJIH X 142,000,000& 142,000
Ouda SIIAH X 128,000,000 128,000
Ooga=E sIAH X# 102,000,000 102,000
OCt=dat sI1AH X2 728,000,000 728,000
Yol SHETHoHEE XI& 73,330 73,330 0
= 22,000
Ea 51,330
307 el2to| & 73,330 73,330 0
S 22,000
o 51,330
06 28= 73,330 73,330 0
OsIIHEEXNE At 73,330,000 73,330
== 22,000
[Ea 51,330
MEE SsEEE Mo Z2RE 111,215 98,000 13,215
= 48,007
= 63,208
101 @124H| 73,215 65,000 8,215
= 36,607
Ea 36,608
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M H

73,215
60,606
30,303
30,303
5,772
2,886
2,886
6,837
3,418
3,419

65,000

M

38,000
11,400
26,600

33,000

5,000

7,600,000 *5CH

M

38,000

38,000
11,400
26,600

33,000

5,000

£ SYIIA OIMIHR M2CHE X2 A

HH W

258,400
129,200
38,760
90,440

390,000

131,600

307 212t01&

Mo W

258,400
129,200
38,760
90,440

390,000

131,600

Ok= SIIH OIMSX M2 X
340H+7,600,000&

MW

258,400

258,400
129,200
38,760
90,440

390,000

131,600

AR

27,317,995
1,947,620
4,748,000
1,432,162

19,190,213

16,300,348

11,017,647

N3 W

12,839,340
1,664,250
3,768,000

983,275
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AN SI|I=HEH
A SENY(SHUNLSM/ 5 - SE)
ol SEFFNE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 69,600 1,500 68,100
01 At2teltl 25,200 0 25,200
OAYOIHEY (a42R
150,00021 %30l 2% 128 5,400
OFIIEEY faiasa
150,000& x 104 2=+ 123 1,800
O] OB (fE242
150,000& x20H =% 123 3,600
SELIETIEE T
300,000 #4JH + 123 14,400
02 S3=gHl 44,400 1,500 42,900
02322 ¥ HAl 44,400
-2EE SYEHIE AIes
2,000,000 * 1 A-+62 12,000
g4t OISAEHRUENH &IIe3
1,000,000& * 104 Axx 12 12,000
-0l B Dl CIRNE ®I|
= 1,000,000 * 14 2xx 12 12,000
A FOIMEH ®)|IQS
700,000 x 104 2% 123 8,400
202 04| 9,240 9,240
01 =LHA LI 9,240 9,240
Os&Hg g2=a 9,240,000& 9,240
203 =] 500 2,000 1,500
03 A= PR FA| 500 2,000 21,500
OsEZE0IESEMHY A=A
250,000 23] 500
207 AR 20,000 20,000
01 H7ESHI 20,000 20,000
OF AN AHUS 2N =AY RS2 0]
HE 20,000,000 20,000
401 Al HIZ S 0HbI 60,000 220,000 A160,000
01 Al&H| 60,000 220,000 160,000
O=EFTUESZ Tl |X22lHI(100HA)
60,000,000 60,000
sESYXEHEHENS) 1,066,000 0 1,066,000
[ 746,000
= 97,000
Ea 223,000
403 MR HSAHE01H 1,066,000 0 1,066,000
[ 746,000
= 97,000
= 223,000
02 SISOt =& P E A I 1,066,000 0 1,066,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEXIE sEZ4X 243AY
1,066,000,0002 1,066,000
fas 746,000
= 97,000
2 223,000
JZMENE SH(EHY) 1,712,000 1,786,000 AT74,000
F=s 1,198,000
= 154,000
=z 360,000
403 XIXISHHI SAH0| & 1,712,000 1,786,000 AT4,000
F=s 1,198,000
= 154,000
=z 360,000
02 BII2ASOIHEHKH 2 X 2AETAI 1,712,000 1,786,000 AT4,000
OZ &M JIZMENE SHAIY
1,712,000,00024 1,712,000
= 1,198,000
= 154,000
> 360,000
JIEMENE s4(23Y) 273,000 1,096,000 823,000
F=s 191,000
= 25,000
> 57,000
403 REXI SHHI SKH20I X 273,000 1,096,000 823,000
2 191,000
== 25,000
= 57,000
02 B ZSOICHBIRHE X P EFAI ] 273,000 1,096,000 823,000
OLZH JIZMENE SLHAY
273,000,000 273,000
2 191,000
== 25,000
2 57,000
JIZMENE S4(20HH) 285,000 0 285,000
2 199,000
== 26,000
= 60,000
401 AIZHIZL S THY 285,000 0 285,000
2 199,000
= 26,000
2 60,000
01 Al&ZHI 283,000 0 283,000
OZDOHH JIZMENT SHAY
283,000,000 283,000
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= 199,000
=S 26,000
s 58,000
03 Al 20HHI 2,000 0 2,000
OH0HH J|=dEHE S
2,000,000& 2,000
JIZMENY SH(ZLY) 366,000 0 356,000
= 249,000
[ 32,000
T 75,000
403 XM SAH=01H 366,000 0 366,000
s 249,000
== 32,000
o 75,000
02 S 2S0ItH et =& 2 €A | 366,000 0 366,000
QPN JIZMENE LAY
356,000,000 366,000
s 249,000
s 32,000
s 75,000
II=MENE SH(B=H) 424,000 0 424,000
= 298,000
=S 38,000
s 88,000
401 AIEHIZ SR THYI 424,000 0 424,000
[ 298,000
= 38,000
[Ea 88,000
01 A28l 422,000 0 422,000
OS2 JIZMENE LAY
422,000,000& 422,000
[ 298,000
= 38,000
Ea 86,000
03 A& S THYI 2,000 0 2,000
OR=8 J|=4EHE SdA
2,000,000 2,000
ANZASASASE (FE2) 560,500 400,000 160,500
s 189,000
== 24,000
o 347,500
201 =3 5,000 8,000 A3,000
01 At22t2lt] 5,000 6,500 21,500
Oget=ZH| 5,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-ASEE U 292 7Y
5,000,000& 5,000
307 gl2to| & 565,500 350,000 205,500
[ 189,000
= 24,000
s 342,500
02 2B HAIHE & 60,000 0 60,000
OsEo4sty Z28HY K&
20,000,000 20,000
[ 14,000
S 1,800
= 4,200
Oa%MAY =& 40,000,000& 40,000
= 7,000
S 900
= 32,100
05 212t =S 495,500 350,000 145,500
OAlZS g2t =&
495,500,000 495,500
[ 168,000
= 21,300
= 306,200
FHAXNA WA (SHE-AHXIT) 442,000 442,000 0
[ 312,000
= 39,000
= 91,000
207 ARl 27,900 42,000 214,100
= 19,500
== 2,500
= 5,900
01 HE4HI 27,900 42,000 A 14,100
OXNesgdat 27,900,000 27,900
= 19,500
== 2,500
o 5,900
401 Al HIZL 201 414,100 400,000 14,100
= 292,500
== 36,500
o 85,100
01 Al&HI 412,000 400,000 12,000
OQMIAI T HAX S HEHAH HEAS
412,000,000 412,000
s 292,500
s 36,500
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 83,000
03 Al&=ChH| 2,100 0 2,100
OAMXIT HOEXI MEOI HEAL
2,100,002 2,100
HotX ™ HE(S0E-3HSX7) 552,000 0 552,000
2 386,000
= 49,000
2 117,000
403 XHXI EHAI S RH=O0I® 552,000 0 552,000
2 386,000
< 49,000
2 117,000
02 ZIIASHHS R H IS AL Y| 552,000 0 552,000
OSSN FHAXI MBI HEAY
552,000,002 552,000
2 386,000
= 49,000
2 117,000
FOIET DISUIS)| XIR (FHEAL) 21,000 21,000 0
201 Yer2ey| 12,000 2,000
01 AR 22l 6.000 6.000
OFVFE DHSUSIIALY
2,000, 0002432 2 6,000
03 A2 H| 6,000 6,000 0
OFUFEE DHSUSIIAY
2,000, 000232 2 6,000
IEREEE] 9,000 9,000
TEICEE 9,000 9,000
OFUFE DHSUSIIAY
3,000,000 530l 4 9,000
XSS (0] 7) (R EHALRY) 230,000 230,000 0
307 2I240IH 20,000 20,000
05 QI2FRIErS 20,000 20,000
OO0I7 OISRISIIAIY =23t
20,000,000 20,000
401 A& Bl L= ChY| 210,000 210,000
01 Alt 210,000 210,000
O0I7 DISRHSIIAIY 210,000,002 210,000
NETICENEEINED) 100,000 280,000 180,000
403 XHXI SIS K201 ® 100,000 280,000 180,000
02 2O ASHHS R H IS AL 100,000 280,000 180,000
Oeis} 0HSLHSII AT 100,000,002 00,000
ML (S (HEtAr) 100,000 280,000 A 180,000
403 XHXI EHAI S K201 & 00,000 280,000 180,000
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AN SI|I=HEH

M sENY(s8ilLi/sY - s&)
ol SEFFNE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 100,000 280,000 180,000
o=t OtEUSIIAE 100,000,000& 100,000
NHEHE (et (HEA) 100,000 280,000 /180,000
403 AXIEHMSA=0ld 100,000 280,000 /180,000
02 SISOt =2 A P E A I 100,000 280,000 180,000
Oghet DI=2=JIAE 100,000,000 100,000
KEML (AHAIT) (M EA) 200,000 87,000 113,000
403 AXIEHHSAH=201H 200,000 87,000 113,000
02 S 2SOt st = & 2 E A ] 200,000 87,000 113,000
OdHI=7 OIS 2SIIA
200,000,000 200,000
XS0 (72) (B etAre) 100,000 280,000 180,000
403 AXIEHHSAH=0lH 100,000 280,000 180,000
02 SO 2SO et =& 2 EF A I 100,000 280,000 180,000
O+ DtE2SIIAE 100,000,000 100,000
KEML (AHIBT) (M EALY) 230,000 230,000 0
307 @120l & 10,000 30,000 220,000
05 212+ =S 10,000 30,000 /20,000
OLIMI3T OI=RESIIAMY S Hst
10,000,000& 10,000
401 Al HIZL S 0HYI 220,000 200,000 20,000
01 Al&HI 220,000 200,000 20,000
OdNI37 OIS 2HSIIA
220,000,000 220,000
KHEMHL (X)) (HEALY) 100,000 280,000 /180,000
403 AXIEHMSAH=0ld 100,000 280,000 180,000
02 SISOt =2 A P E A I 100,000 280,000 180,000
OzZHAl OI=2F=JIAE 100,000,000 100,000
NHEOHE (A2 (HEALY) 200,000 100,000 100,000
401 AIEHIZ SR OHYI 200,000 80,000 120,000
01 Al&HI 200,000 80,000 120,000
OAg DtSeSIIAE 200,000,000 200,000
NEMNL(UHS)(HEAY) 200,000 100,000 100,000
403 AXIEHHSAH=0lH 200,000 100,000 100,000
02 SISt 2 S A AEHI 200,000 100,000 100,000
OtE == 200,000,000& 200,000
e (AE) (HEAY) 200,000 100,000 100,000
403 AXIEHMSA=0ld 200,000 100,000 100,000
02 SII2ASOITH St =2 A P E A I 200,000 100,000 100,000
OulE Dt=2=JIAE 200,000,000 200,000
NEHE (TH=) (M EAY) 200,000 100,000 100,000
403 AXIEHHS X201 200,000 100,000 100,000
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2A: sHIIsUE
A SENY(SHUNLSM/ 5 - SE)
ol SEFFNE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 200,000 100,000 100,000
OlU= Ot=2SIIAE 200,000,000 200,000
MWL (28) (HEAY) 200,000 100,000 100,000
403 AXIEHMSA=0ld 200,000 100,000 100,000
02 SISOt =2 A P E A I 200,000 100,000 100,000
OZ2& O=2=JIAME 200,000,000 200,000
NHEoHE (Ao (M EALY) 200,000 100,000 100,000
403 AXIEHHSAH=201H 200,000 100,000 100,000
02 S 2SOt st = & 2 E A ] 200,000 100,000 100,000
Odlot DSSSIIALE 200,000,000 200,000
AEML () (HEAY) 200,000 100,000 100,000
403 AXIEHHISAH=0lH 200,000 100,000 100,000
02 SIS0t 2 S A A 200,000 100,000 100,000
OZ2d t=sUSIIAE 200,000,000& 200,000
XEML(Mel) (HEAY) 200,000 100,000 100,000
403 AXIEHMSA=0ld 200,000 100,000 100,000
02 SISOt =2 H P E A I 200,000 100,000 100,000
OKlel Dt=2=JIAE 200,000,000 200,000
KEML (AL FXF) (HEAY) 900,000 900,000
403 AXIEHHSAH=201H 900,000 900,000
02 SIS0t =2 AE A 900,000 900,000
ODFZOHSII MR (AT T)EX
900,000,000 900,000
sSES2EHIAIE 3,328,500 0 3,328,500
= 1,664,250
& 499,275
Ea 1,164,975
403 TR SHMSAH=01H 3,328,500 0 3,328,500
= 1,664,250
s 499,275
s 1,164,975
02 S 2SOt et = & 2 E AL H] 3,328,500 0 3,328,500
OsE32EHIAN 3,328,500,000& 3,328,500
= 1,664,250
= 499,275
o 1,164,975
SSO0BHE 1,236,140 1,201,740 34,400
[ 2,000
Ea 1,234,140
sS42 0PIE A 1,236,140 1,201,740 34,400
= 2,000
= 1,234,140
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2A: sHIIsUE
B SR (SHHLSA/ 5D - SE)
el sZ0BE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 653,360 1,142,960 489,600
01 At2teltl 650,000 1,142,000 A492,000
Odgt+=ZH| 650,000
-E2E YN 50,000,000 *1H 50,000
-V AE & 100,000,000 * 14! 100,000
-UEAl sStt2 20
300,000,000 * 14 300,000
-E2= M 1,000& 5,000 5,000
-EEE 480tE M
5002 *10,000H 5,000
-sEXY ZHaeD Z2RE s2(&20
b, ZSSEH S) 190,000,000 *13] 190,000
2 35244l 960 960 0
O M= R 80,000& * 122 960
03 A= SHI 2,400 0 2,400
OLEEZ A st A HHEH 28
800,000 *32 2,400
202 04| 5,280 5,280
01 =LHOLI 5,280 5,280
O NENEERSEESS
5,280,000& 5,280
203 HR=H] 1,000 1,000
03 A=A PR 1,000 1,000
Ossdg 29 S g2z
200,000 %53 1,000
301 EetE2 N = 17,000 17,000
14 0Bt 2a3 17,000 17,000
OFgu=s =d= 7,000,000& 7,000
OFElls 82 SHIAE Ala=
5,000,000 22} 10,000
307 elztol & 59,500 52,500 7,000
= 2,000
[Ea 57,500
02 2B YA R E A 59,500 52,500 7,000
OSS4aE 2242 HISUAY A2 A
6,000, 0002 x5 *7(fk 21,000
OAHIZSTHAL XA
11,250, 0002 x42| *7(f% 31,500
OsttE 2ctel 2201 &g XA
10,000, 0003 12| *7(f% 7,000
= 2,000
Ea 5,000
401 AlZHIZ SO 500,000 500,000
01 A28l 500,000 500,000

_108_




2A: sHIIsUE
B SR (SHHLSA/ 5D - SE)
el SH0PIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oetel Ot 24X sl
150,000, 0002 %27} A 300,000
Ootel 012 BIE 2l2e |
100,000, 0002 *2IH 2 200,000
sAE 243 X 929,437 948,019 18,582
SEMLI 22 570,750 574,500 A3,750
306 EH= 450,000 450,000 0
01 2= 450,000 450,000 0
OgtdzAA 29 450,000,000 450,000
402 QI”F X201 & 120,750 120,000 750
01 QI 2 AL E (XM TH ) 120,750 120,000 750
O¥gx SUSIISE2s ZHI(A & It
SR XA 60,750
“ZEIIA 3,500,000 5 #50% 8,750
SN 80,0002 *1,300IH*50f% 52,000
ORZMLI| 228 EFLA X
20,000, 000& *6IH 2= +50f% 60,000
JUEFH 28 75,687 69,019 6,668
101 @124H| 26,487 25,219 1,268
04 JIZtNZ22 NS+ 26,487 25,219 1,268
OogudFa 2e| 26,487
-Jl== 76,9603 x1H 245 18,856
-RaRgdIfsE 76,9602 x 18 +67 L 5,157
-“AEE= 24,011,520 %10. 3% 2,474
201 er23| 49,200 43,800 5,400
01 AtR2t2|HI 10,000 10,000 0
Odgt+=H| 10,000
-SOIAHIAIAE B 125,0003 122 1,500
-HE2nEE MEgZ2 e ¢ 29
5,000,000& 5,000
QIS At MYULEE 2,000,000& 2,000
-82= M& & "IE 7Y
500,000 *32 1,500
02 s3=gHl 19,200 13,800 5,400
OZ332= 2 HMAl 14,040
-HII23 1,000,000& «12& 12,000
+=ER3 100,000& * 12 1,200
-Sties 70,0002 122 840
OAIEEBI= X 2,000&%215m" « 128 5,160
03 A2 I 20,000 20,000 0
OMg=Zzd 29 20,000,000 20,000
AZEES & M EIOHKIE 255,000 252,000 3,000
201 Ler23| 253,000 230,000 23,000
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2A: sHIIsUE
B SR (SAHLSA/ 5D - SE)
el sAE #2435t AF (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 253,000 0 253,000
O=Uel AZstatsl &t X
230,000,000 230,000
O4dsy HIE 1,000&%10,000H 10,000
O8E2= HH 5,0002*1,0004 5,000
OZEAAMNZ 7 1,000,000 #42] 4,000
O"gAL S3+5 8Xtg
1,000,000 *43] 4,000
203 HR=4AY] 2,000 2,000
03 A= PR F&| 2,000 2,000
OMEu2s 2y Y2EX
200,000& *102] 2,000
ofel saE 2gs Hxiod 28,000 28,000 0
202 04| 28,000 28,000
03 = R0 28,000 28,000
OB 2lsAlZeratsl WXI0R S2)
2,000,000 7 H 23] 28,000
SSsMXE 6,858,367 306,827 6,551,540
HiclsghZdy 24 6,848,367 196,827 6,651,540
101 @12A4H| 212,847 24,007 188,840
04 JIZtN22 XS 2+ 212,847 24,007 188,840
O%eISEXNEHH 29 212,847
=] 76,9602 x7 H*222U x 12 142,223
-ReRgdIfsE 76,9603 7 *67L 36,095
-“AHEE= 178,316,3202%10.3% 18,367
-Elx= 76,9603 x7& »30! 16,162
201 fer= 3| 614,240 60,540 553,700
01 At 2|l 528,740 40,540 488,200
Oget=EH| 523,700
-AMRHIE 1Y € EEE A
200,0002 x105+53] 10,000
ST 2 E 7Y
2,000,000& %52 10,000
—Seal A8 === 5,500,000 *12] 5,500
-0 gXB 400,000 ~2CH 800
-SOIBHANARHESA 300,000& 122 3,600
-ESLHESH 300,000 * 122 3,600
- oM e 3,000,000 %14 3,000
AP RIFSET i b 7,000,000 *14] 7,000
AR HSXY YRR
4,000,000 *10CH =122 480,000
—SSJ|& AYHHAC A WF
200,0002 %12 200
O=g=g 5,040
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2A: sHIIsUE
B SR (SAHLS/ 5D - SE)
el SEsAXE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2z =& 70,0006 * 122 5,040
2 s5=34l 85,500 20,000 65,500
0332 € AMAl 56,300
-Hes 4,000,000~ 122 48,000
-Aot=EAMNER 200,000 * 122 2,400
-Ste3 200,000 122 2,400
—dASHH A Y 2 E 500,000& 14 500
KNS IHA 500,000 <2CH 1,000
-AsSi 282 1,000,000 2CH 2,000
OAlZ &I Xl 10,000
- SEAZEH RAEs
10,000,000 » 14 10,000
O eI 19,200
AR & FFU
800,000 =2CH* 122 19,200
202 04l 5,280 5,280
01 2LHoIH 5,280 5,280
Os=z24E g2xd 5,280,000 5,280
206 M=l 6,000,000 15,000 5,985,000
01 MZH| 6,000,000 15,000 5,985,000
O34 Allg 78
500,000,000& «12& 6,000,000
301 EtE NS 1,000 52,000 /51,000
11 AALRHIXIR S 1,000 2,000 21,000
O34l Us AL 24
20,0002 10 #52 1,000
405 AHaHE S 15,000 40,000 /25,000
01 IR ESF SHI 15,000 40,000 A25,000
OALRA Dt & 2EDIE 78
5,000,000 35 15,000
24 B0s)t UF 10,000 20,000 10,000
307 @I2to1 & 10,000 20,000 10,000
12 Q2RI RS =] 10,000 20,000 10,000
O34 H0sIt WE
10,000,000 * 14! 10,000
STNEHSHAAY 1,490,000 2,202,798 AT12,798
= 980,000
== 126,000
o 384,000
SEANEASHAAY 1,400,000 2,100,000 A700,000
= 980,000
S 126,000
o 294,000
207 ARl 140,000 300,000 160,000
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A sII=4dH
Y SENU(SHNLSM/ 5 - SE)
SRl SELEHEHAAY (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
s 98,000
S 12,600
ia 29,400
01 1S9l 140,000 300,000 160,000
OFgE ZZZE 0ptuiol 2
50,000,000& *14] 50,000
s 35,000
< 4,500
2 10,500
OSEABHZAAANY A3 AL
50,000,000& *14! 50,000
s 35,000
S 4,500
= 10,500
OXSEELE N 20,000,000 & x24! 40,000
s 28,000
S 3,600
ia 8,400
307 212t01& 370,000 240,000 130,000
s 259,000
= 33,300
i 77,700
02 QIZtEHAEE X 370,000 190,000 180,000
Os&MEABYA X 28 X2
210,000,000 *10H 2~ 210,000
s 147,000
= 18,900
i 44,100
OsEtEHASHANMY FRUEAHE S2A
i 5,000,000 x2JH 2 10,000
s 7,000
S 900
ia 2,100
OsENEESHAANY IS S2MY
10,000,000 #5H A 50,000
s 35,000
S 4,500
a 10,500
OUEIE AtH3E XA
47,619,000 #30H 2 +70% 100,000
= 70,000
S 9,000
ia 21,000
401 Al HIZL 201 340,000 850,000 A510,000
s 238,000
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2A: sHIIsUE
B SE U (SAHLSA/ 5D - SE)
ol SEAEHSHAAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,600
s 71,400
01 Al&H| 340,000 800,000 460,000
OFEUs SEXNAUE A (HWAI)
340,000,000 * 14 340,000
= 238,000
< 30,600
= 71,400
405 AHatE = 550,000 150,000 400,000
= 385,000
[ 49,500
T 115,500
01 AL =S F=H 550,000 150,000 400,000
OFdlts Skl =258 ¢
550,000,000& 550,000
= 385,000
[ 49,500
Ea 115,500
SENSAZA AL (RHA) 90,000 102,798 A12,798
307 elztol & 90,000 72,798 17,202
02 2B HAIAE & 90,000 72,798 17,202
OSENBABYA ZC AR 2
90,000,000 90,000
sttE FSHA 25 1,450,093 1,422,200 27,893
= 179,370
= 67,937
[Ea 1,202,786
sttE RS8H € S8 |KSUS 1,600 1,600
301 eEtE N = 1,600 1,600
11 #AIAHIXIZ S 1,600 1,600
Os=ttls dAl & RSadE 219 S
40,0003 x20E 23] 1,600
sSSMSZE XE 222,500 230,000 AT7,500
307 212+01& 222,500 230,000 AT7,500
02 LB HANHEE 222,500 230,000 AT7,500
OsStte ZEM X2
15,000,000 *37H 2=*50% 22,500
OAEMA ZEW X2
25,000, 0002 *169H 2= +50% 200,000
stE MAFSAE X2 36,210 300,000 A263,790
== 10,863
o 25,347
402 2I2E X201 & 36,210 300,000 A263,790
< 10,863
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2A:
X XH -
o e

=aak

- ZF - HRA(3A) - MRAY

- ESS

ol &rey

MEE
Ofl &k2h

H

25,347

02 RIENZASEZ (01 THR)
o

SAE K&

60, 350, 000& *60%

M

36,210

36,210
10,863
25,347

300,000

A263,790

HH W

275,000
137,500

27,500
110,000

324,000

249,000

307 212t01&

Mo W

275,000
137,500

27,500
110,000

324,000

49,000

o
N
e
r
oY
g 0r
>
1R
H
P

@)
0H
ofn
x

550,000,000 *50%

MW

275,000
275,000
137,500

27,500
110,000

324,000

249,000

Mo W

12,000
6,000
1,800
4,200

5,600

6,400

Mo W

12,000
6,000
1,800
4,200

5,600

6,400

14 DBt 2 a3
JES

OGP 15Tt etE

o

0

ZAHl A&

12,000,000

Mo W

12,000

12,000
6,000
1,800
4,200

5,600

6,400

UMY

2,000
600
1,400

5,000

A3,000

Mo

2,000
600
1,400

5,000

A3,000

2,000,000&

M H

2,000
2,000

600
1,400

5,000

A3,000

- 114 -




M sgII=4dH
Y SENY(SHHLSM/ S - SE)
ol A2 SQEH 1S (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
GAP AIEES XA 59,783 0 59,783
= 35,870
= 7,174
= 16,739
402 BI2HR=0l M 59,783 0 59,783
= 35,870
= 7,174
= 16,739
02 QIZIRH2 AL 22 (01 & &) 59,783 0 59,783
OGAP PIMAIE B2 XIZ A
59,783, 0003 *2IH 2 x50% 59,783
= 35,870
& 7,174
i 16,739
M RSEET ASAY 56,000 56,000 0
= 20,000
= 36,000
307 212+01 A 56,000 56,000 0
& 20,000
= 36,000
02 QIRHA LA E X 56,000 56,000 0
Osttz2 SEiBERE S4X#
80,000,000& *70% 56,000
= 20,000
i 36,000
sttt 343 |4 N& 575,000 500,000 75,000
307 QIZt01A 575,000 500,000 75,000
02 QIRHEAAIHE X 575,000 500,000 75,000
Osdtg2 383 284 K&
250,000,000 *50% 125,000
Ostie 283 ZET X
400,000,000 *50% 200,000
Osdtg s83 a8 X
500,000, 000& *50% 250,000
SSOHE XA 283 XA 210,000 210,000
307 2I2+01A 210,000 210,000
02 QIRHEAAIH B X 210,000 210,000
OSE0HIE XA 45t NJAMS
210,000,000& 210,000
si&t2 XA 2= 1,175,190 1,258,260 283,070
& 218,000
i 957,190
=823 2Y¢ 7,690 2,690 5,000
201 L2 | 1,690 1,690 0
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2A: sHIIsUE
B SR (SAWLSA/ 5D - SE)
SE NS ST I (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,690 1,690 0
Odit==H| 1,000
—EAHBFL g2 =M
500,000 22 1,000
O=g=g 690
-GAP JIZ2 s ¥ PLS uF ZAeE
230,000& *32 690
301 EtE N = 1,000 1,000
11 #AIMHIXIE S 1,000 1,000
O=£823 s F4A A&
10,0003 25 & #4328 1,000
307 21201 & 5,000 5,000
04 QIZHHAMAIH 2 £ 5,000 5,000
O=s0l9 & A K&
5,000,000& 12 5,000
=E=FMN= X 1,000,000 1,062,000 /52,000
= 200,000
= 800,000
301 EtE N = 1,000,000 1,062,000 /52,000
= 200,000
[Ea 800,000
14 0Bt 243 1,000,000 1,062,000 /52,000
Osttz #8580 1I= 1,000,000,000& 1,000,000
s 200,000
s 800,000
=5t Al AEXIE 36,667 128,070 A91,403
& 11,000
= 25,667
402 QI”F X201 & 36,667 113,570 AT76,903
= 11,000
o 25,667
02 QI X2 AL E R (0IETHE) 36,667 113,570 AT76,903
OtldsdtE =25t 88 M
33,333, 0002 *50% 16,667
=S 5,000
s 11,667
Ozt S
40,000, 000& *50% 20,000
= 6,000
= 14,000
SHRAAIE JHE X 27,500 23,000 4,500
201 fer23y| 2,000 2,000 0
01 AtR2t2|HI 2,000 2,000 0
Odgt==H| 2,000
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2A: sHIIsUE
B SR (SAWLSA/ 5D - SE)
SE NS ST I (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE4E3 22 AN
20,0003 %100 2,000
202 04dl 10,500 6,000 4,500
04 =Xl=todb] 10,500 6,000 4,500
Ol AAENE o2
3,500,000 *3H 10,500
307 212+01& 15,000 15,000
02 LB HANHEE 15,000 15,000
Odi AN X
2,000,000 15 *50% 15,000
ANE=ZE20 HILuH X 80,000 50,000 30,000
402 2I2F X201 & 80,000 50,000 30,000
01 QI XHZ AL E R (KEHITHE) 80,000 50,000 30,000
O=Est S4((ZeH N
160,000, 0002 *50% 80,000
K-sit= dE= S 23,333 0 23,333
< 7,000
[Ea 16,333
307 lztol & 23,333 0 23,333
& 7,000
= 16,333
02 2B YA HE X 23,333 0 23,333
OK-stt=2 d5s S
23,333,000& 23,333
= 7,000
[Ea 16,333
HSHE 1,339,428 1,418,764 AT9,336
= 104,000
= 34,950
Ea 1,200,478
s SEAE 1,064,7% 1,164,136 A109,380
101 212A4H| 28,79% 21,176 1,620
04 JIZtN2Z2 XS+ 28,796 27,176 1,620
ORI H24SA 2 28,79%
-Jl==2 76,9602 x1H #2452 18,856
-FeRgdIfsE 76,9602 18 +67 L 5,157
“AHEE= 24,011,5202%10. 3% 2,474
-EX= 76,9602 *30 2,309
201 et 3| 52,000 32,000 20,000
01 AtR2tc|Hl 52,000 32,000 20,000
ER=lest=ull 50,000
A= AE AUN £ S22 A
5,000,000 62| 30,000
-AsHE M 1 20,000,000 x 14 20,000
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2A: sHIIsUE
M sENY(s8ilLi/sY - s&)
ool FsAE CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2g+¢ 2,000
-EASA2UYA dF4e 28+g
100,000 x5 & *42| 2,000
202 04| 3,960 3,960
01 2LHA b 3,960 3,960
OFs0l SAXY Y25
110,000& x3&* 123 3,960
301 EtE NS 134,000 265,000 A131,000
14 JIEt2 83 134,000 265,000 A131,000
OBZAL U s X
300,000 x2ZH*155+82 72,000
OZAIR HURK S20S 2237
300,000 *100H 30,000
OAAZ FRJI8D 2% T2y U8
400,000 x80H 32,000
307 elztol & 196,000 196,000
02 2B HAIAE & 196,000 196,000
OFSHE AT L=
11,000,000 * 14} 11,000
OAsHEY MsIIF X
5,000,000 *14 5,000
OFisoIZeiss NA(SSHE MEET
3) 4,000,000& »40& 160,000
OFd =0 3dH MIAY
20,000,000 * 190 2 20,000
402 2I2F X201 & 640,000 640,000
01 BIENSA S E X (XM THR) 640,000 640,000
OAsHAsE A (I=sI8 2L
16,000,000 +40& 640,000
HSHE KX 272,172 247,128 25,044
= 104,000
== 31,200
o 136,972
101 e124d| 38,952 39,887 A935
= 19,389
= 5,817
o 13,746
03 SR (RIH )22+ 38,952 39,887 A935
OFs AHE 243HHH 29 38,952
-JlZ2s 2,331,600« 1&~12& 27,981
= 13,904
= 4,170
o 9,907
AR E 160,000& x 12 =123 1,920
= 960
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2A: sHIIsUE
A SENU(SHNLSM/ 5 - SE)
=Rl AsHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 288
s 672
-SESOt| 2,331,600& «60%*22] 2,79
= 1,399
S 420
= 980
-A2tel ==& 16,5402 x10AI 2+ 150%+ 122 2,978
= 1,489
== 447
= 1,042
AR RBENLY
16,5403 *BAI 2t 17 2,250
= 1,125
S 338
= 787
“MHEE = 1,023,980 1,024
= 512
< 154
s 358
201 er2 3| 36,500 28,000 8,500
= 14,550
< 5,085
= 16,865
01 At2t2ltl 20,000 10,000 10,000
Oggr=g] 20,000
HsHEEESIH 28
10,000,000 10,000
= 5,000
= 1,500
= 3,500
-XEE NSEE NSAHIA
10,0002 *1,000& 10,000
= 2,500
= 750
= 6.750
03 A= I 16,500 18,000 21,500
OHsHE 5&d &
5,500,000& 32 16,500
= 7,050
= 2,83
Ea 6,615
202 04| 2,400 0 2,400
= 2,400
01 =LHAHI 2,400 0 2,400
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2A: sHIIsUE
A SENU(SHNLSM/ 5 - SE)
=Rl AsHE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAsHAE starsl &0t ol
400,000 x2H+32 2,400
= 2,400
301 EtEE S 68,300 77,400 29,100
= 22,446
== 6,687
o 39,167
11 AALREIXIES 1,100 3,000 21,900
OAs7E 2&lal S0 24
110,000& 10 1,100
= 550
s 165
s 385
14 JIEt2 8= 67,200 74,400 AT7,200
OsuIEIt 23 1,200,000& 10 12,000
= 3,000
s 900
s 8,100
OFi=sn =22 X
300,000 %140 42,000
= 15,000
== 4,500
o 22,500
SZ0IA &0t=ED
6,600,000 +27H 2~ 13,200
= 3,8%
< 1,122
[Ea 8,182
M H=RE=SS 4,220 4,241 A21
= 2,11
< 633
[Ea 1,476
M SRA(RIAL) 22N EE=RE=s S 4,220 1,077 3,143
OFs AHE 243HHH 28 UE MHES
L= 1,023,980 1,024
= 512
== 154
o 358
OFs AHE 243HHH 28 H=STFE=s
1,706,630 1,707
= 854
S 256
[Ea 597
OFs HE 243HH 28 UALEE
= 1,488, 120 1,489
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2A: sHIIsUE
A SENU(SHNLSM/ 5 - SE)
Rl AsHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 745
=S 223
s 521
307 212+01& 66,800 57,600 9,200
= 18,104
= 5,478
o 43,218
02 QB AANEE R 66,800 57,600 9,200
OFselgs S8
20,000,000 * 14! 20,000
= 5,000
< 1,500
2 13,500
SENA A0H2D)
23,400,000 #2012 46,800
= 13,104
=S 3,978
s 29,718
402 2I2E X201 & 55,000 40,000 15,000
= 25,000
= 7,500
o 22,500
02 BIENZASEZ(0IETHR) 55,000 40,000 15,000
OA=s2e & 24 55,000,000 55,000
= 25,000
= 7,500
Ea 22,500
7=sol HEEER XA 7,500 7,500 0
== 2,250
o 5,250
307 212+01& 7,500 7,500 0
== 2,250
= 5,250
02 B HAHE L 7,500 7,500 0
OF=0l o M|
1,500,000 6% 7,500
= 2,250
Ea 5,250
HASSEEH 28 NFAE 5,000 0 5,000
== 1,500
o 3,500
301 2= 5,000 0 5,000
[ 1,500
T 3,500
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=PI
BE: SEWL(SYHLLN/5Y - 5E)
Rl AsHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 JIEL2 A2 5,000 0 5,000
OB 29 100, 00024503 5,000
= 1,500
2 3,500
DS SN (RS/ROILESSDE) 2,204,680 2,237,729 233,049
= 790,029
2 1,414,651
ENEE 2,204,680 2,237,729 233,049
= 790,029
2 1,414,651
StugA XAt (Let) 1,678,214 1,707,872 A29,658
= 731,945
2 946,269
308 XXIEHHISOI R 1,678,214 1,707,872 £29,658
< 731,945
2 6,269
08 WSDIUHSEE 1,678,214 1,707,872 £29,658
OStDZA KIRAR (LEIZA)
1,678,214,0002 1,678,214
= 731,945
2 946,269
S NSAN R (HASS) 190,283 186,237 4,046
= 57,247
2 163,036
308 XHXISHAISOIH 190,283 186,237 4,06
< 37,247
2 163,036
08 WSJ IR0 CHSHE X 190,263 186,237 4,046
OstDZA NAAML(HASS)
190,283, 0002 190,263
= 37,247
2 163,036
g2y st2Al KA 47,706 48,620 £914
= 20,837
2 26,869
308 XXIEHHISOI A 47,706 48,620 £914
= 20,837
2 26,869
IR ESETETEES 47,706 48,620 £914
OHBZY DI KA
47,706,000 47,706
= 20,837
2 26,869
24 ATE PYUH XBAME 288,477 29,000 £6,523




SN SYIISHE
3 N2 SANH(RF/FOIAESSUR)
=9 Sa=sS (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XtXIEMSO0IE 288,477 295,000 26,523
08 WEJ|20tetEx 288,477 295,000 26,523
O+ Allz 2eHl XA
288,477,000 288,477
A2 ZHI(SLII=HE) (OIEHIIE 1,248,318 1,277,365 N29,047
olHA2EH (sgI1=dH) 1,027,198 1,037,431 210,233
PIAHSZ 22 =+ 1,027,198 1,037,431 /10,233
101 e124d| 955,021 945,673 9,348
03 SRA(RIH )22 U2+ 955,021 945,673 9,348
Otz A0tz FEMH25Y) 250,173
= 145,062
723 2,641,9003 1 ~12& 31,703
923 2,399,500« 1& 128 28,794
8== 2,369,200 «2& «12& 56,861
628 2,308,600« 1H 122 27,704
-NR2&dE 160,000 x5 * 12 9,600
-2 S0l 7,253,040+23] 14,507
-Eg 3,600
HHR X 40,0002 x5~ 123 2,400
HAELIE SHIE
20,0002 45 12 1,200
—ARtel 2R
2,449,6803 /2262 x1.5+5A1 2+ 12 +6FH 4,878
-FURRLy
2,449,6808 /2262 »1 .5+8A| 2Hx5 2 x 122 x6H
39,022
P BN
2,449,6803 /2262 +BA| 2+ 152 +5H 6,504
-E|=3 90,0002 *302 *3,650/365% 1 27,000
OtteL2A (02, Usgd=sigy) 183,485
-Jl2s 2,331,700 «4E~12& 111,922
-Aedelg 160,000 x4 * 122 7,680
-SESOt| 2,331, 7003 x60%*4 B 23] 11,193
-ESE 2,880
HHR X 40,0003 x4« 123 1,920
HAEHIE SHIS
20,0003 x4 * 122 960
-AIZRI 2R
2,331,7008 /2262 +1.5«20A| 2++4H « 12 14,857
~oixtag
2,331, 7003 /2262 B Al 2+ 4+ 15 4,953
O=ESAE(TZ, sIIASUAIE ) 468,690
-Jl== 3,003,780 7 H*12& 252,318
-XR&d=E 160,000 7+ 122 13,440
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2A: sHIIs4EH
M HZRAZHI(SLII=HE)(OIEHIIE)
Cel: AR AH|(=IIsHH) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-2 = EH| 3,008, 78020.6+7 23] 25,23
NHEELES=
3,003,780 /2262 x 1.5+7 B+35AI 2H+ 12 58,614
&5 520,000& * 128 6,240
-SLI22FE(SIHASUHAIE L)
3,003,780 /2262 +1.5+8 Al 2H+ 7 »90 100,481
RPN Sy
3,003, 7803 /2262 «BA| 2H+7H x 152 11,165
-HE=g 100,000&x1~12& 1,200
Og=cRA 0z, FAkzel) 46,616
= 2,702,500« 18~ 12& 32,430
N2 E 160,000 x 12 * 12 1,920
-2 S0l 1,621,500 x1H*23] 3,243
PRSI S 95,6703 18 »23 2,201
EEC R
17,9403 »25A1 2t 128 5,382
IEE 1,440
B 40,0002 =2 * 122 960
HAHEHIS SHIIS
20,0002 28 122 480
Og=L A0z, SASASEAY) 36,057
-Jl2=208838) 2,217, 7008~ 1E+ 123 26,613
-XR&dd=E 140,000 x1&* 122 1,680
-GS0l 2,217, 7002 %0.6%12#22 2,662
tEE 720
B 40,0002 x 12 x 122 480
HAZEHIS SHIE
20,0002 124 128 240
-AZtel2Ray
2,217, 7008 /2432 x1.5+20 A1 2Hx 1B+ 12 3,286
P BN
2,217,700 /243+8 A 2t 1 » 152 1,09
M HA=SFESS IR 91,758 19,581
VEEEES P EEE =TT e 72,177 17,387 54,790
OnSIYSTA BRND2T ASRLS
160,000+4% + 122 7.680
OBBIYSAAL TLUIRT 2012AYR
EE 160,000x4E «12& 7,680
OsJIASUAIE A S22 2E8aR
8= S 39,057,480& 0. 103~ 12 48,276
OB A2 SRAIZA 288 FE=S
400,000« 1 =122 4,800
OSUESASIAE SRH2Z2I =242
2E8=s 2,500,000 *1E* 123 *7% 2,100
OSUSASTAE oI QYEE
2,100,000« 12 x12+6.51% 1,641
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AN SI|I=HE
SH X
oo

Z: AN2IAHI(SLIISHH)(OIEHIIE
celr J=ZHl(s2II=dH) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

J23tl(sgIIs4H) 221,120 239,934 18,814

Jl23tl(sgII=s4H) 221,120 239,934 18,814

201 er23| 132,860 182,314 A19,454

01 At2teltl 123,860 120,416 3,444
Oget+=ZHI 30,000,000& 30,000
O=g=¢ 13,920
-2 A 60,0002 x2EH*1162 13,920
O=gl 74,340
- 7,000 x18S*11&* 122 16,632
-t 7,0003 182 x 11«12 16,632
D= X3 7,000& 218112+ 128 19,404
-sEMNL 7,000& x18H*112+12& 16,632
-S2A 7,0003 2032« 12 5,040
Ooul=Hl 5,600

S SX A, ST AL ARG A (12Y)

5,600,000& 5,600

2 Ss52g4l 9,000 31,898 N22,898
OZ33x2= 2 HMAl 9,000,000 9,000

202 04l 54,500 53,900 600

01 SLHoIH 54,500 53,900 600
oJlz2ge+d 54,500
- 50,0003~ 182+ 122 10,800
-S4 50,0002 x18& 122 10,800
“Jl=X3 50,0003 x21E 128 12,600
-SENZ L 50,0002 x18F «12& 10,800
-SFA 9,500,000& 9,500

203 HF=AH] 24,160 24,120 40

01 J 2= HRFA| 3,300 3,300 0
OJ 2238 g =4t 3,300,000 3,300

02 HRAIMAHA R S| 3,880 3,840 40
Ot 2| 3,880
-SHIE MY 40,0002 x18H 720
-t 40,0002 18H 720
=N 40,0002 x21H 840
-SEMNL 40,0002 18 720
-S2A 40,0003 x22H 880

04 RFAZSLRFEI 16,980 16,980 0
ORNEgE =AY 16,980
- 3,600,000 3,600
-S4 4,800,000 4,800
-Jl=X3 4,980,000 4,980
—SENL L 3,600,000& 3,600
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2A:

s8JI=4H

MM HYER2AAH|(SHIISHE)(IIEHIIE
Sl D12 P (S IISHE) CrRL
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
204 2245 AH| 9,600 9,600
01 MHZHL2 LAY 9,600 9,600
ONHZYRLHHY| 9,600
- & 400,0002 x 1« 128 4,800
—H& 100,000 x4 128 4. 800
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